
Supervisors' Safety Manual, Tenth Edition
Chapter 1 Safety Management

True or False

Directions: Circle T if the statement is True and F if the statement is False.
	1.
	T
	F
	Unlike in the past, we now believe an incident has one main cause.

	2.
	T
	F
	Indirect costs account for only a small portion of the overall cost of an incident.

	3.
	T
	F
	We each determine our own acceptable level of risk based on our daily habits.

	4.
	T
	F
	Praise is a powerful tool that a supervisor can use to bring about change in employee behavior.

	5.
	T
	F
	A hazard is a workplace condition that can result in an incident.

	6.
	T
	F
	Assessing and establishing a baseline is one part of the National Safety Council’s model for continuous improvement.

	7.
	T
	F
	In today’s workplace, we believe safety is the responsibility of the organization’s safety department.

	8.
	T
	F
	An effective safety management system is based on the principles of continuous improvement.

	9.
	T
	F
	The Domino Theory states any incident has multiple causes.

	10.
	T
	F
	A key to achieving effective safety management is for an organization to implement a safety management system.

	11.
	T
	F
	To be identified as an incident, an event must result in personal injury or damage.

	12.
	T
	F
	An essential element of a successful safety management system is management leadership and commitment.

	13.
	T
	F
	Supervisors must act as role models for safety and health.

	14.
	T
	F
	Employee involvement is one of the elements of a successful safety management system.

	15.
	T
	F
	Bringing about changes in the area of safety and health is easy because people are very receptive to change.


Multiple Choice

Directions:  Select the best answer and place the corresponding letter in the box provided.

	16.
	
	Which of the following is a direct cost?


	
	A.
	Machine downtime.

	
	B.
	Medical expenses.

	
	C.
	Training a replacement for the injured worker.

	
	D.
	Accident investigation costs.


	17.
	
	The National Safety Council has identified ______ elements of a successful safety management system.

	
	A.
	22

	
	B.
	5

	
	C.
	9

	
	D.
	10


	18.
	
	Which of the following statements is true?

	
	A.
	An organization with effective safety management normally has higher profits.

	
	B.
	A hazard is a workplace condition that can result in an incident.

	
	C.
	Safety involves controlling and eliminating recognized hazards to attain an acceptable level of risk.

	
	D.
	All of the above.


	19.
	
	An effective safety management system is:

	
	A.
	Organized

	
	B.
	Designed to achieve and maintain high standards of safety performance within an organization.

	
	C.
	Structured

	
	D.
	All of the above.


	20.
	
	Which is an example of an indirect cost?

	
	A.
	Physical therapy expenses.

	
	B.
	Ambulance charges.

	
	C.
	Customers lost due to delivery delays.

	
	D.
	All of the above.


	21.
	
	Some likely benefits to the organization of effective safety management are:

	
	A.
	An enhanced public image .

	
	B.
	No OSHA citations and legal fees.

	
	C.
	Fewer resources spent on recruiting and training workers to replace those who are injured.

	
	D.
	All of the above.


	22.
	
	Safety involves:


	
	A.
	The control and elimination of recognized hazards to attain an acceptable level of risk.

	
	B.
	Promoting the wellness of workers.

	
	C.
	A continuous process of anticipating, identifying, designing, implementing, and evaluating risk-reduction practices.

	
	D.
	All of the above.


	23.
	
	Indirect costs:


	
	A.
	Add significantly to the cost of incidents.

	
	B.
	Should be considered as a separate issue when giving reasons for safety improvement.

	
	C.
	Are usually less than the direct costs.

	
	D.
	All of the above.


	24.
	
	Benefits to the supervisor of effective safety management include:

	
	A.
	Improved attitudes of workers toward their jobs and company.

	
	B.
	No time and energy spent investigating injuries.

	
	C.
	Career advancement.

	
	D.
	All of the above.


	25.
	
	Which of the following is a change in thinking about safety management that has occurred in the 21st century?

	
	A.
	Concern for the office environment. 

	
	B.
	The acceptance that good safety programs contribute to the health of a company’s bottom line.

	
	C.
	Concern for health issues as well as safety issues.

	
	D.
	All of the above.
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